| Mid-Chapter Quiz i

Do you know HOW?
" 1. Find the period and amplitude of the
periodic function.
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- 2. Find the measure of the angle in standard position.
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Sketch each angle in standard position.
3. —-150°
4. 240°
" Write each measure in radians. Express the

answer in terms of & and as a decimal rounded
~ to the nearest hundredth.

5. —180°
6. 36°

. Write each measure in degrees. Round your answer to
. the nearest degree if necessary.

i %JT radians

8. —%:r radians

9. 0.5radians

10. —2 radians
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The measure § of an angle in standard position
is given. Find the exact values of cos 6 and sin 8 for
each angle measure.

11. —225°
12.120°

13. v%’g radians

14. 5—415 radians

15. Find the length of the intercepted arc to the nearest
tenth for an arc with a central angle of measure
0= gon a circle of radius r = 10.

16. Sketch one cycle of a sine function with amplitude 3
and period 2.

17. Find the amplitude and period of the graph of
y= ;lfsin 30.

Do you UNDERSTAND?

18. Open-Ended Sketch the graph of a periodic function
with a period of 10 and an amplitude of 7.

19. Writing You are given an angle with a positive angle
measure in degrees. Describe how you can find
an angle coterminal with that angle that also hasa
positive angle measure in degrees.

20. Reasoning On a merry-go-round, you stand 15 feet
from the center while your friend stands 10 feet from
the center. How would you find how much further
you travel in one revolution than your friend? What
is that distance?

21. Reasoning Will two sine functions with the same
period but different amplitudes intersect? Explain.
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2. Letxbean acute angle of a right triangle. Find the values of the other 5 trigonometric functions of x, if
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Trigonometry — Worksheet 1

I. Find the exact value of the six trigonometric functions of the given / x.

sinx =

cosx =

tanx =

SeCx=—.
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CsCx =

Secx =

cotx =

sinx =

cosx =

@ tanx=

- Givenright AABC below, find the EXACT value of:

C

a. cosC=

b. cscC=

C. tanA=

d. secA=

Cscx=

secx =

cotx=
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Arc Length and Sector Area

Name

Date Period,

Find the length of each arc. Round your answers to the nearest tenth.

1]

3)

5) r=13cm, 8=60°

N r=9f,=—

Find the length of cach arc. Do not round.
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4)

6) r=16m, §=75°
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